
 

 

Waterous Company  125 Hardman Avenue South, South St. Paul, Minnesota  55075  USA  (651) 450-5000 

Note:  When ordering parts, provide Pump, Transmission or PTO Serial Number. 

 
 

 

 

 

CGV Series Body Assembly 

Service Parts List 
 

 

Index: 

Models See Page 

CGV, CGVN CGVR 2, 3 

CGVG 4, 5 

Document Number 

SPL 80729 

Issue Date 

01/71 

Rev. Date 

3/18/15 



 

 

Models CGV, CGVN, CGVR 

SPL80279 

PAGE 2 OF 5 

 

REF. 
NO. 

DESCRIPTION 

B2 O-ring, 4-1/4 X 4-1/2 in. 

B3 Packing or Mechanical Seal Housing 

B4 Flat Hd Machine Screw, SS, 5/16-18 x 3/4 in. 

B5 Volute Body (Includes Wear Ring, B2, B3, B4) 

B6 Square Hd Pipe Plug, 1/4 in. 

B7 Discharge Adapter 

B8 O-ring, 3-3/8 x 3-5/8 in. 

B9 Hex Hd Bolt, 5/8-18 x 2-1/4 in., Grade 5 

B10 Hex Nut, 5/8-18 

B11 Lock Washer, 5/8 in. 

REF. 
NO. 

DESCRIPTION 

B12 Hex Hd Bolt, 7/16-14 x 1-1/4 in., Grade 5 

B13 Lock Washer, 7/16 in. 

B14 
Threaded or Flanged Victaulic Intake Adapter 
(Includes Wear Ring) 

B15 Intake Adapter Gasket 

B16 Square Hd Pipe Plug, 3/4 in. 

B18 Square Socket Pipe Plug, 3/4 in. 

B19 Square Hd Pipe Plug, 3/8 in. 

B52 Reducing Bushing, 3/4 in. x 3/8 in. NPT 

B54 Flat Washer, 1/2 



 

 
PAGE 3 OF 5 

SPL80729 

 

 
 



 

 

Model CGVG 

SPL80279 

PAGE 4 OF 5 

 

REF. 
NO. 

DESCRIPTION 

B1 Intake Fitting Gasket 

B2 O-ring, 4-1/4 X 4-1/2 in. 

B3 Packing or Mechanical Seal Housing 

B4 Flat Hd Machine Screw, SS, 5/16-18 x 3/4 in. 

B5 Volute Body (Includes Wear Ring, B2, B3, B4) 

B6 Square Hd Pipe Plug, 1/4 in. 

B7 Discharge Adapter 

B8 O-ring, 3-3/8 x 3-5/8 in. 

B9 Hex Hd Bolt, 5/8-18 x 2-1/4 in., Grade 5 

B10 Hex Nut, 5/8-18 

B11 Lock Washer, 5/8 in. 

B13 Lock Washer, 7/16 in. 

B15 Intake Adapter Gasket 

REF. 
NO. 

DESCRIPTION 

B16 Square Hd Pipe Plug, 3/4 in. 

B17 Crosspipe 

B19 Square Hd Pipe Plug, 3/8 in. 

B20 Blind Flange Gasket 

B21 Blind Flange 

B22 Hex Hd Bolt, 7/16-14 x 1-1/4 in., Grade 5 

B23 Hex Hd Bolt, 1/2-20 x 2 in., Grade 5 

B24 Hex Nut, 7/16-20 

B25 Flat Copper Washer, 7/16 in. 

B26 Wear Ring Housing (Includes Wear Ring) 

B53 Socket Hd Bolt, 7/16-14 x 1-1/4 in. 

B54 Flat Washer, 1/2 



 

 
PAGE 5 OF 5 

SPL80729 

 
 

 


